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axbPxcolth z<y<x¥d W, a+b+

@1 @)2 @ 3 @ 4 ® 5

2160 = 24 x 33 x 50|22 g =2 b=3, c=5x=4,y =

3, z=10°|t}
“a+b+c—(x+y+2)=24+3+5-(44+3+1)=10-8=2




4.

600 =a*x b’ xc¢ 2 AJFENE W, (a+b+c)x (x+y+2z) 2
H2? (Fa<b<o)

@ 12 @ 24 ® 36 @ 48 @60

600 = 23 x3x 5% =a* x b’ x ¢ °|B2
a=2,b=3,c=5 x=3,y=1,z=2
w(a+b+c)x(x+y+z) = (2+3+5)x(3+1+2) = 10x6 = 60




%7} ohuet,

<

@ 29=

BT 2ol

o
—

®)371} 43

D1&
@ 29
®1L

447} op e,
et
AR FASE ohT

s
L —é\——r—o

sy




ol
™

n_mo
Ton

No

ol

@ 29 ® 41 @ 53 ©)

O 13

FE 1 RE 2 AAS FOIH 2571 obd Solek. wetA




7tz 0] Ao|o} M2 o] o], E=o]7} Ztzt 4em, 12cm, 8cm ¢! 2S5 HA|
o] YR EHro] of g 7 Qlnt. o]AS ¥ %‘”01 Fota d 5 Q=
= 7MY 22 ASHA RS vrE . & off, a3 R EY)
7H/\1__r)

@ 2470 @367]1 ® 4871 @ 6071 ® 7270

B ~
4, 12, 89 HaFHl4E 240|B 2
(a3t HFE] )
=(24+4)x (24 +12) x (24 +8)
=6x2x3=36("H)
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Zo|7F 6em, A 22 Zo|7F 8em, C17F 12cm 1 A5 HA
HIEglo] Zroba 71 28 oA RofS whEe 1l

el
St oluf, A oF A dol=?

D)24 cm @ 32cm ® 48cm @ 50cm ® 54cm

AewA o] g o] dol= 6, 8, 12 & FHgo]ojoF ok, 71
A2 ASHAE e g o dol= 6, 8, 12 o] HaFH)
solofof gtrt. mEhA] F5 A 9] 3 BAf 2|9 ZolE 24em
ot}




9. 1 RE 100 74 9] A% B4 72 3 ZoFTE 19 S W A
917}

® 3070 @ 3170 ® 3270 @33711 ® 347

~&B

72 = 23 x 32

72 9F FkpTE 1 Ql = 2 O] HijSE ofU Al 3 9 Hij4Ie obd
Zo|lng

100 - (29 Hige] s - (39w A +
(62] ¥i=2] 7i4+) = 100 — 50 — 33 + 16 = 33




10. o5 3 A=24Q0 A2?

@ (14,21) @ (36,72) ® (8,90)
@ (11,121) @(9, 19)

ARat AGIA57H 19 T A4S THEE (9,19) 0],




